

Weighted Bergström's inequality

Dorin Marghidanu ,
d.marghidanu@gmail.com

In this work , a weighted version of Bergström's inequality is presented . Equivalents of this inequality with the unweighted Bergström inequality and with the weighted C-B-S inequality have also stated and proved . Also various consequences of this inequality are also exposed .

Key words : weighted Bergström's inequality , Jensen's inequality , C-B-S inequality , weights

2020 Mathematics Subject Classification : 26D15

It is known in mathematical practice and in mathematical literature – the **Bergström's** famous and beautiful *inequality* , discovered in 1949 and published in 1952 , [3] :

- For any $x_1, x_2, \dots, x_n \in \mathbb{R}$; $a_1, a_2, \dots, a_n > 0$

$$\frac{x_1^2}{a_1} + \frac{x_2^2}{a_2} + \dots + \frac{x_n^2}{a_n} \geq \frac{(x_1 + x_2 + \dots + x_n)^2}{a_1 + a_2 + \dots + a_n} . \quad (B)$$

with equality if and only if $\frac{x_1}{a_1} = \frac{x_2}{a_2} = \dots = \frac{x_n}{a_n}$.

For this interesting inequality there are many more proofs, extensions, generalizations and various refinements, see for example : [1], [2], [5]-[7], [10] .

In what follows, we are interested in obtaining a *weighted* version of *Bergström's inequality* (B) .

We will thus have the following statement ,

1. Proposition (weighted Bergström's inequality) , [11]

For any $x_1, x_2, \dots, x_n \in \mathbb{R}$; $a_1, a_2, \dots, a_n > 0$ and for any $w_1, w_2, \dots, w_n > 0$, holds the inequality ,

$$w_1 \cdot \frac{x_1^2}{a_1} + w_2 \cdot \frac{x_2^2}{a_2} + \dots + w_n \cdot \frac{x_n^2}{a_n} \geq \frac{(w_1 x_1 + w_2 x_2 + \dots + w_n x_n)^2}{w_1 a_1 + w_2 a_2 + \dots + w_n a_n} , \quad (wB)$$

with equality if and only if $\frac{x_1}{a_1} = \frac{x_2}{a_2} = \dots = \frac{x_n}{a_n}$.

Proof 1 (by applying *unweighted– Bergström's inequality*)

$$\begin{aligned} w_1 \cdot \frac{x_1^2}{a_1} + w_2 \cdot \frac{x_2^2}{a_2} + \dots + w_n \cdot \frac{x_n^2}{a_n} &= \frac{(w_1 x_1)^2}{w_1 a_1} + \frac{(w_2 x_2)^2}{w_2 a_2} + \dots + \frac{(w_n x_n)^2}{w_n a_n} \stackrel{\text{Bergström}}{\geq} \\ &\stackrel{\text{Bergström}}{\geq} \frac{(w_1 x_1 + w_2 x_2 + \dots + w_n x_n)^2}{w_1 a_1 + w_2 a_2 + \dots + w_n a_n} . \end{aligned}$$

Proof 2 (by applying *weighted CBS inequality*)

In the *weighted CBS inequality* ,

$$(w_1 a_1^2 + w_2 a_2^2 + \dots + w_n a_n^2) \cdot (w_1 b_1^2 + w_2 b_2^2 + \dots + w_n b_n^2) \geq (w_1 a_1 b_1 + w_2 a_2 b_2 + \dots + w_n a_n b_n)^2 . \quad (w\text{CBS})$$

by substitutions : $a_k \rightarrow \sqrt{a_k}$, $b_k \rightarrow x_k / \sqrt{a_k}$, $k \in \{1, 2, \dots, n\}$, we get :

$$\begin{aligned} (w_1 a_1 + w_2 a_2 + \dots + w_n a_n) \cdot \left(w_1 \frac{x_1^2}{a_1} + w_2 \frac{x_2^2}{a_2} + \dots + w_n \frac{x_n^2}{a_n} \right) &\geq \\ &\geq \left(w_1 \sqrt{a_1} \frac{x_1}{\sqrt{a_1}} + w_2 \sqrt{a_2} \frac{x_2}{\sqrt{a_2}} + \dots + w_n \sqrt{a_n} \frac{x_n}{\sqrt{a_n}} \right)^2 \Rightarrow \\ &\Rightarrow w_1 \cdot \frac{x_1^2}{a_1} + w_2 \cdot \frac{x_2^2}{a_2} + \dots + w_n \cdot \frac{x_n^2}{a_n} \geq \frac{(w_1 x_1 + w_2 x_2 + \dots + w_n x_n)^2}{w_1 a_1 + w_2 a_2 + \dots + w_n a_n} . \end{aligned}$$

Proof 3 (by applying *weighted Jensen inequality*)

- if $f: \mathbb{R} \rightarrow \mathbb{R}$ is a convex function , then for any weights $\lambda_k > 0$, $k \in \{1, 2, \dots, n\}$, for which we have $\sum_{k=1}^n \lambda_k = 1$, then holds the *weighted Jensen inequality* , $\sum_{k=1}^n \lambda_k f(x_k) \geq f\left(\sum_{k=1}^n \lambda_k x_k\right)$, $(w\text{J})$

with equality if and only if $x_1 = x_2 = \dots = x_n$.

With the convex function $f: \mathbb{R} \longrightarrow \mathbb{R}$, $f(x) = x^2$, by substitutions :

$x_k \rightarrow \frac{x_k}{a_k}$, $\lambda_k \rightarrow \frac{w_k x_k}{\sum_{k=1}^n w_k x_k}$, $k \in \{1, 2, \dots, n\}$, in which, obviously $\sum_{k=1}^n \lambda_k = 1$,

we will have successively :

$$\begin{aligned} \sum_{k=1}^n \frac{w_k a_k}{\sum_{k=1}^n w_k a_k} \cdot \left(\frac{x_k}{a_k} \right)^2 &\geq \left(\sum_{k=1}^n \frac{w_k a_k}{\sum_{k=1}^n w_k a_k} \cdot \frac{x_k}{a_k} \right)^2 \Leftrightarrow \\ \Leftrightarrow \frac{\sum_{k=1}^n w_k \cdot \frac{x_k^2}{a_k}}{\sum_{k=1}^n w_k a_k} &\geq \left(\frac{\sum_{k=1}^n w_k x_k}{\sum_{k=1}^n w_k a_k} \right)^2 \Leftrightarrow \\ \Leftrightarrow \sum_{k=1}^n w_k \cdot \frac{x_k^2}{a_k} &\geq \frac{\left(\sum_{k=1}^n w_k x_k \right)^2}{\sum_{k=1}^n w_k a_k} . \end{aligned}$$

2. Remark

If in (wB) from *Proposition 1*, we take $w_1 = w_2 = \dots = w_n$, we obtain the (B) - the unweighted version of *Bergström inequality* .

3. Corollary

For any $x_1, x_2, \dots, x_n \in \mathbb{R}$; $a_1, a_2, \dots, a_n > 0$, holds the inequality ,

$$1 \cdot \frac{x_1^2}{a_1} + 2 \cdot \frac{x_2^2}{a_2} + \dots + n \cdot \frac{x_n^2}{a_n} \geq \frac{(1 \cdot x_1 + 2 \cdot x_2 + \dots + n \cdot x_n)^2}{1 \cdot a_1 + 2 \cdot a_2 + \dots + n \cdot a_n} , \quad (1)$$

with equality if and only if $\frac{x_1}{a_1} = \frac{x_2}{a_2} = \dots = \frac{x_n}{a_n}$.

Proof

In the inequality (wB) we take the weights , $w_k = k$, $k \in \{1, 2, \dots, n\}$, and the inequality from the statement is obtained .

4. Corollary , [12]

For real numbers $a_1 > a_2 > \dots > a_n > a_{n+1} \geq 0$, holds the inequality ,

$$\sum_{k=1}^n \frac{k}{a_k - a_{k+1}} \geq \frac{n^2(n+1)^2}{4 \cdot \sum_{k=1}^n (a_k - a_{n+1})} . \quad (2)$$

Proof

After a light preparation and then, by applying **weighted Bergström's inequality** , we have :

$$\begin{aligned} \sum_{k=1}^n \frac{k}{a_k - a_{k+1}} &= \sum_{k=1}^n k \cdot \frac{1^2}{a_k - a_{k+1}} \stackrel{(wB)}{\geq} \frac{\left(\sum_{k=1}^n k \cdot 1 \right)^2}{\sum_{k=1}^n k \cdot (a_k - a_{n+1})} = \\ &= \frac{n^2(n+1)^2}{4 \cdot \frac{1}{(a_1 + a_2 + \dots + a_n) - n \cdot a_{n+1}}} = \frac{n^2(n+1)^2}{4 \cdot \sum_{k=1}^n (a_k - a_{n+1})} . \end{aligned}$$

5. Corollary (weighted Nesbitt's inequality)

For any $a, b, c > 0$ and any weights $w_1, w_2, w_3 > 0$ holds the inequality ,

$$w_1 \cdot \frac{a}{b+c} + w_2 \cdot \frac{b}{c+a} + w_3 \cdot \frac{c}{a+b} \geq \frac{(w_1 a + w_2 b + w_3 c)^2}{w_1 a(b+c) + w_2 b(c+a) + w_3 c(a+b)} , \quad (wN)$$

with equality if and only if $a = b = c$.

Proof

We have, after a short preparation and then with the application of the inequality (wB) :

$$\begin{aligned} w_1 \cdot \frac{a}{b+c} + w_2 \cdot \frac{b}{c+a} + w_3 \cdot \frac{c}{a+b} &= w_1 \cdot \frac{a^2}{a(b+c)} + w_2 \cdot \frac{b^2}{b(c+a)} + w_3 \cdot \frac{c^2}{c(a+b)} \stackrel{(wB)}{\geq} \\ &\geq \frac{(w_1 a + w_2 b + w_3 c)^2}{w_1 a(b+c) + w_2 b(c+a) + w_3 c(a+b)} . \end{aligned}$$

If we take $w_1 = w_2 = w_3$, is obtained **Nesbitt's inequality (unweighted version)** , [14].

6. Remark

Another *weighted* version of *Nesbitt's inequality* was presented in [9].

For other works regarding *Nesbitt's inequality* or its *extensions or refinements*, see also: [8], [13] ..

Between *Bergström's unweighted* and *weighted inequalities* , we would be inclined to believe that the *weighted* one is more general . In fact, the two versions are equivalent, as shown by the following :

7. Corollary , [4]

If for $k = 1, 2, 3$, $a_k + k > 0$ and $a_1 + 2a_2 + 3a_3 \leq 4$, then

$$\frac{1}{a_1+1} + \frac{2}{a_2+2} + \frac{3}{a_3+3} \geq 2 \quad . \quad (3)$$

Proof

Indeed , after a slight preparation and then with *weighed Bergström's inequality* , as well as the inequality of condition , (c) : $a_1 + 2a_2 + 3a_3 \leq 4$, we get successively :

$$\begin{aligned} \frac{1}{a_1+1} + \frac{2}{a_2+2} + \frac{3}{a_3+3} &= 1 \cdot \frac{1}{a_1+1} + 2 \cdot \frac{1}{a_2+2} + 3 \cdot \frac{1}{a_3+3} \stackrel{wB}{\geq} \\ &\stackrel{wB}{\geq} \frac{(1 \cdot 1 + 2 \cdot 1 + 3 \cdot 1)^2}{1 \cdot (a_1+1) + 2 \cdot (a_2+2) + 3 \cdot (a_3+3)} = \frac{36}{(a_1+2 \cdot a_2+3 \cdot a_3)+(1+4+9)} \stackrel{(c)}{\geq} \\ &\stackrel{(c)}{\geq} \frac{36}{4+14} = \frac{36}{18} = 2 \quad . \end{aligned}$$

8. Proposition

(*Unweighted*–) *Bergström's inequality* , (B) and *weighted Bergström's inequality* (wB) they are equivalent inequalities ..

Proof

Regarding the *Proposition 1* , in *Proof 1* , we practically proved the implication :

Bergström's inequality (B) \Rightarrow *weighted Bergström's inequality (wB)* .

The other implication ,

weighted Bergström's inequality (wB) \Rightarrow Bergström's inequality (B) ,
it is obtained by simply considering the equality of weights $w_1 = w_2 = \dots = w_n$ in inequality (wB) .

In the same manner , the following equivalence takes place :

9. Proposition

The ***weighted inequality,(wCBS)*** and ***weighted Bergström's inequality (wB)*** are equivalent inequalities .

Proof

In *Proof 2* from *Proposition 1* we practically proved the implication :

weighted inequality,(wCBS) \Rightarrow weighted Bergström's inequality (wB) .

The other implication ,

weighted Bergström's inequality (wB) \Rightarrow weighted inequality,(wCBS) ,

we will demonstrate it as follows .

In ***weighted Bergström's inequality (wB)*** , we replace :

$a_k \rightarrow a_k^2$, $x_k \rightarrow a_k b_k$, $k \in \{1, 2, \dots, n\}$, and we get :

$$\sum_{k=1}^n w_k \cdot \frac{a_k^2 b_k^2}{a_k^2} \geq \left(\sum_{k=1}^n w_k a_k b_k \right)^2 \Leftrightarrow \left(\sum_{k=1}^n w_k a_k^2 \right) \cdot \left(\sum_{k=1}^n w_k b_k^2 \right) \geq \left(\sum_{k=1}^n w_k a_k b_k \right)^2 ,$$

mean exactly the ***weighted CBS inequality*** .

In [7] , ***Bergström's (unweighted) inequality*** was equivalently described in terms of means.

Thus, if we denote ,

$$A_n(a_1, a_2, \dots, a_n) := \frac{a_1 + a_2 + \dots + a_n}{n} , \quad (\text{arithmetic mean}) \quad (4)$$

then the ***inequality (B)*** – from the beginning of this work is thus transposed :

- if $n \in \mathbb{N}^*$, $x_i \in \mathbb{R}$, $a_i > 0$, $(\forall) i = \overline{1, n}$, then ,

$$A_n \left(\frac{x_1^2}{a_1} , \frac{x_2^2}{a_2} , \dots , \frac{x_n^2}{a_n} \right) \geq \frac{A_n^2(x_1, x_2, \dots, x_n)}{A_n(a_1, a_2, \dots, a_n)} , \quad (\mathbf{B\,ma})$$

with equality if and only if $\frac{x_1}{a_1} = \frac{x_2}{a_2} = \dots = \frac{x_n}{a_n}$.

And here, if we consider the *weighted arithmetic mean* ,

$$A_n(a_1, a_2, \dots, a_n; w_1, w_2, \dots, w_n) := w_1 a_1 + w_2 a_2 + \dots + w_n a_n , \quad (5)$$

then *weighted Bergström's inequality* , (wB) - will be transcribed in the language of *weighted arithmetic means* as follows :

$$A_n \left(\frac{x_1^2}{a_1} , \frac{x_2^2}{a_2} , \dots , \frac{x_n^2}{a_n} ; w_1, w_2, \dots, w_n \right) \geq \frac{A_n^2(x_1, x_2, \dots, x_n; w_1, w_2, \dots, w_n)}{A_n(a_1, a_2, \dots, a_n; w_1, w_2, \dots, w_n)} . \quad (wB\,ma)$$

Extensions and generalizations of *Bergstrom's weighted inequality* (such as *Radon's weighted inequality*) will be studied and published in a separate , subsequent paper .

References :

- [1] Bătinețu-Giurgiu, D.M. , Mărghidanu D. , Pop T. O. , “*A generalization of Radon's inequality*” , in *Creative Math. & Inf.* ” 20 , No. 2 , pp. 111 – 116 , 2011 .
- [2] Bătinețu-Giurgiu, D.M., Mărghidanu D. , Pop T. O., “*A refinement of a Radon type inequality*” , *Creative Math. & Inf.* 27 , No. 2 , pp. 115-122 2018 .
DOI: [10.37193/cmi.2018.02.03](https://doi.org/10.37193/cmi.2018.02.03)
- [3] Bergström H. , “*A triangle inequality for matrices*” , Den Elfte Skandinaviske Matematikerkongress, Trondheim, 1949 , Johan Grundt Tanums Forlag, Oslo , 1952 , pp. 264–267.
- [4] Bogomolny A. , “*Dorin Marghidanu's Example*” , in «*Cut-The-Knot*» , *on-line* , <https://www.cut-the-knot.org/m/Algebra/MarghidanuExample.shtml>
- [5] Mărghidanu D. , “*Generalizations and refinements for Bergström and Radon's Inequalities*” , in ”*JOURNAL of SCIENCES and ARTS*” , Year 8 , No. 1 (8) , pp. 57-62 , 2008 , *on-line* , http://www.icstm.ro/DOCS/josa/josa_2008_1/cuprins.htm
- [6] Marghidanu D., Díaz-Barrero J.L., Rădulescu S., “*New Refinements of Some Classical Inequalities*” in “*Mathematical Inequalities & Applications*”, Volume 12, Number 3 , pp 513-518 , (July , 2009) .

[7] Mărghidanu Dorin , “*Inegalitățile lui Bergström și Radon – în limbaj de medii aritmetice*” , in « *REVISTA DE MATEMATICA DIN TIMISOARA* », anul XXIX (Seria a IV-a) , pp. 5-8 , nr. 4/2024 .

[8] Marghidanu Dorin , “*Extensions and refinements for Nesbitt and Cîrtoaje inequalities*” , in « *Romanian Mathematical Magazine* » , October 6, 2023 . *on-line* : <https://www.ssmrmh.ro/2023/10/06/extensions-and-refinements-for-nesbitt-and-cirtoajes-inequalities/?fbclid=IwAR3dkZsHqlndMdvyTbJZY-EynRmKM-bLyB2A7AGCfMpqrSz9zynGfzhmc> , reprinted with the name , **EXTENSIONS AND REFINEMENTS FOR NESBITT AND CÎRTOAJE'S INEQUALITIES** , in «*Romanian Mathematical Magazine*», Nr.44-SPRING EDITION 2025, pp. 39-43 , 2025, *on-line*: <https://www.ssmrmh.ro/wp-content/uploads/2024/10/RMM-44-FINAL.pdf>

[9] Marghidanu Dorin , “*Weighted Nesbitt's inequality*” , in « *Romanian Mathematical Magazine* » , september 19, 2023 , *on-line* : <http://www.ssmrmh.ro/wp-content/uploads/2023/09/WEIGHTED-NESBITS-INEQUALITY.pdf> , reprinted with the name , **WEIGHTED NESBITT'S INEQUALITY** , in «*Romanian Mathematical Magazine*», Nr.44-SPRING EDITION 2025, pp. 43-46 , 2025, *on-line*: <https://www.ssmrmh.ro/wp-content/uploads/2024/10/RMM-44-FINAL.pdf>

[10] Marghidanu Dorin , “*Refinements for the C-B-S inequality and for the Bergström inequality*” , in « *Romanian Mathematical Magazine* » November 5 , 2025 , *on-line* : <http://www.ssmrmh.ro/wp-content/uploads/2025/11/NEW-REFINEMENTS-FOR-CBS-AND-BERGSTROMS-INEQUALITIES.pdf>

[11] Marghidanu Dorin , “*The Bergström weighted inequality*” , - *Proposed problem* , in *Mathematical Inequalities* , 23 December , 2025 . <https://www.facebook.com/photo?fbid=25953471250951971&set=gm.4284734551814573&idorvanity=1486244404996949>

[12] Marghidanu Dorin , *Proposed problem* , *Classical Mathematics* , 1 January. , 2026 , <https://www.facebook.com/photo?fbid=26019648994334196&set=gm.4292855147669180&idorvanity=1486244404996949>

[13] Marghidanu Dorin , “*Inequalities with Nesbitt lacunary sums*” , in «*Romanian Mathematical Magazine* » , August 25 , 2025 , *on-line* : <http://www.ssmrmh.ro/wp-content/uploads/2025/08/INEQUALITIES-WITH-NESBITT-LACUNARY-SUMS.pdf>

[14] Nesbitt, A.M. , Problem 15114 , “*Educational Times*” , 55 , 1902 .